

$$(1! + 3! + 5! + \dots + 25!) (2! + 4! + 6! + \dots + 24!)$$

$$1 + (1 \times 2 \times 3) = 6$$

$$24 \times 6 = 144 \rightarrow 12^2 \checkmark$$

$$(2 \times 1) + (4 \times 2 \times 1) = 10$$

بعد از این همه صفر بوز حاصل ۲ ده وجود دارد.

الف) $\int \frac{1}{x+\sqrt{x}} dx$

$$\sqrt{1+\sqrt{x}} = \sqrt{\frac{1+x}{x+\sqrt{x}}} \quad \sqrt{(1+\sqrt{x})^2} = \sqrt{\frac{1+x}{x+\sqrt{x}}} = \frac{\sqrt{1+x}}{\sqrt{x+\sqrt{x}}}$$

ب) $\left(\frac{\sqrt{x} + \sqrt{5}}{\sqrt{10 + \sqrt{50}}} \right) (\sqrt{3-\sqrt{5}} - \sqrt{2+\sqrt{5}}) = \frac{\sqrt{x} + \sqrt{5}}{\sqrt{x+\sqrt{x}}} \times -\sqrt{x} = \frac{-\sqrt{x}}{\sqrt{x+\sqrt{x}}}$

الف) $\frac{\sqrt{18} + \sqrt{12}}{2 - \sqrt{2}} - 2(\sqrt{3} - 1)^{-1} = \frac{(\sqrt{18} + \sqrt{12})(2 + \sqrt{2})}{(2 - \sqrt{2})(2 + \sqrt{2})} + \frac{2(\sqrt{3} + 1)}{(\sqrt{3} - 1)(\sqrt{3} + 1)}$

الف) $\frac{\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}}{\sqrt{\sqrt{3}} - \sqrt{2}} - 2 = \frac{\sqrt{4+2-2} = \sqrt{4}}{\sqrt{\sqrt{3}} - \sqrt{2}} = \frac{2}{\sqrt{\sqrt{3}} - \sqrt{2}}$

ب) $\sqrt[3]{\sqrt{28}} \times \sqrt[3]{142} \times \sqrt[3]{28\sqrt{2}} = -$

$$2^{\frac{1}{3}} \times 2^{\frac{1}{3}} \times 2^{\frac{1}{3}} \times 2^{\frac{1}{3}} = 2 \times 2^{\frac{1}{3}} = 12 \checkmark$$

$$2^{n+1} + 2^{n+2} + 2^{n+3} + \dots + 2^{n+10}$$

$$2^{n+1} + 2^{n+1} + 2^{n+1} + \dots + 2^{n+10}$$

$$\frac{2^{n+1} \times 10}{2^{n+1} \times 4} = \frac{2^{n+1}}{2^{n+1}} \times \frac{10}{4} = \frac{5}{2}$$

مجموع = $2^{n+1} (1 + 2 + 2^2 + \dots + 2^9)$

مجموع = $2^{n+1} (1 + 2 + 2^2 + \dots + 2^9) = 2^{n+1} \times 1023$

مجموع = $2^{n+1} \times 1023 = 2^{n+1} \times 1023$

مجموع = $2^{n+1} \times 1023 = 2^{n+1} \times 1023$

$$(a^2 - b^2)^r = (a^2 + b^2 - 2ab)^r (a^2 + b^2 + 2ab)^r = (a - b)^{2r} (a + b)^{2r}$$

$$(\sqrt{4} - 1)^r (\sqrt{4} + 1)^r = (2 - 1)^r (2 + 1)^r = 1^r 3^r = 3^r$$

$$(\sqrt{4} - 1)^r (\sqrt{4} + 1)^r = (2 - 1 + \sqrt{4} + 1 - 1\sqrt{4})^r = (2\sqrt{4} - 1\sqrt{4})^r = (\sqrt{4})^r = 2^r$$

$$2^r = 3^r$$

$$a = \sqrt{r - \sqrt{r}} = \sqrt{\sqrt{r}(\sqrt{r} - 1)} = \sqrt{r} \sqrt{\sqrt{r} - 1}$$

$$(a + \frac{1}{a} + \sqrt{r})^r (a + \frac{1}{a} - \sqrt{r})^r = r^r$$

$$r^r = r^r$$

$$(rA)^{-\frac{1}{r}} = ?$$

$$(r \times r)^{-\frac{1}{r}} = (r^2)^{-\frac{1}{r}} = r^{-\frac{2}{r}} = \frac{1}{r^{\frac{2}{r}}}$$

$$A = \sqrt[r]{r \sqrt{14}} \left(\frac{1}{r}\right)^{-\frac{r}{r}} = r^{\frac{1}{10}} (r^{-1})^{\frac{r}{r}} = r^{\frac{1}{10}} r^{-1} = r^{-\frac{9}{10}}$$

$$\sqrt[r]{r \sqrt{14}} = \sqrt[r]{r^{10}} = r^{\frac{10}{r}} = r^{\frac{1}{10}}$$

$$a > 0 \rightarrow \sqrt{a} = r \sqrt{a} \frac{1}{r} \rightarrow a^{\frac{1}{2}} = r \sqrt{a} \frac{1}{r} \rightarrow r = a^{-\frac{1}{r}} \rightarrow a^{\frac{1}{r}} = r$$

$$\frac{(\frac{1}{a} - r)}{1 + \sqrt{r}} = \frac{r\sqrt{r} - r}{1 + \sqrt{r}} = \frac{r(\sqrt{r} - 1)(\sqrt{r} + 1)}{(1 + \sqrt{r})(\sqrt{r} + 1)} = \frac{r(\sqrt{r} - 1)}{\sqrt{r} + 1}$$

$$\frac{1}{a^{\frac{1}{r}}} = r \Rightarrow r^{\frac{1}{r}} = a^{\frac{1}{r}}$$

$$\frac{\sqrt{x+a}}{m} - \frac{\sqrt{x+r}}{n} = r \Rightarrow m - n = r$$

$$m^2 - n^2 = x + a - x + r = a + r$$

$$(m+n)(m-n) = a + r \Rightarrow m+n = \frac{a+r}{r} = \frac{a}{r} + 1$$

$$\frac{\sqrt{x+a}}{m} + \frac{\sqrt{x+r}}{n} = r \Rightarrow m+n = \frac{a+r}{r} = \frac{a}{r} + 1$$